Khalsa College for Women, Amritsar

Criterion: 3.3

3.3.2 Number of books and chapters in edited volumes/books published and papers published in national/ international conference proceedings per teacher during last five year

Year	No. of Publications
2021-22	143
2020-21	51
2019-20	33
2018-19	17
2017-18	1

Total Number of Publications: 245

Khalsa College for Women, Amritsar

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedi ngs of the conferen ce	Name of the confere nce	National / Internati onal	Year of publication	ISBN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
				·	202	1-22		·	•	·
1.	Dr. Surinder Kaur	Coronavirus and Education	Responsibilities of Teachers during Pandemic	NA	NA	National	2021	978-93- 88691-90-1	Khalsa College for Women	Shipra Publications, Delhi
2.	Dr. Gurwinder Kaur	Sukhdev Singh Sirsa: Sahit Chintan de Sarokar	NA	NA	NA	National	2021	978-93- 84326-01-2	Khalsa College for Women, Amritsar	Ravi Sahit Parkashan, Amritsar
3.	Dr.Gurwind er Kaur	Soma da katha sansar: ik adhyan	Smantar: Aurat da hond moolak santap	NA	NA	National	2021	978-93-5205- 532-2	Khalsa College for Women, Amritsar	Sanjh Parkashan, Jalandhar
4.	Dr. Gurwinder Kaur	Atamjeet di Shabad Sadhna: Parta te Pasar	Farash wich Ugea Rukh: Prakriti te Sanskriti da Tanao	NA	NA	internatio nal	2021	978-93- 90603-12-1	Khalsa College for Women, Amritsar	Unistar Books, Chandigarh
5.	Ms. Sumanjit Kaur	Zindagi Kla te Sahit	Mulakaat	NA	NA	Internatio nal	2021	978-93- 90603-12-1	Khalsa College for Women, Amritsar	chetna parkashan, ludhiana
6.	Ms. Ambica Khurana	Multidisciplinar y Research Book Vol 3	Sustainability and Handloom	NA	NA	National	2021	978-93-5470- 777-3	Khalsa College for Women, Amritsar	Swaranjali Publication

Principal Khalsa College for Women, Amritsar

7.	Dr. Jagbir Kaur	NA	Temperature variations within a multi-layered skin tissue exposed to the 5G mobile communications frequency radiation	Proceedin gs of Internatio nal Conferen ce on Women Research ers in Electroni cs and Computi ng	Internati onal Confere nce on Women Researc hers in Electron ics and Comput ing	Internatio nal	2021	978-81- 947843-8-8	Department of Research and Development,I.K. Gujral Punjab Technical University, Kapurthala, India	AIJR Publisher
8.	Dr. Surinder Kaur	Principles and Fundamentals of Management and Information Technology	NA	NA	NA	National	2022	978-93- 90863-16-7	Khalsa College for Women, Amritsar	National Press Associates New Delhi
9.	Dr. Surinder Kaur	SAGACITY: Researchers' Perspective, 2022	Factors Affecting the Choice of Higher education Institute in Australia and Canada: A Perspective of Indian Students	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons Hall Bazar, Amritsar
10.	Dr. Jatinder Kaur	SAGACITY: Researchers' Perspective, 2022	Punjabi Lok Sangeet atte Shastri Sangeet da Antar- Sambandh	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons Hall Bazar, Amritsar

Principal Khalsa College for Women, Amritsar

11.	Ms. Ravinder kaur	Sagacity: Researcher's persprctive 2022	Rukh te rishi : Jugat jaag k jeun di	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kastoori lal and son's
12.	Ms. Ravinder kaur	Rural Diversification in Punjab: Prespectives and Challenges	Punjabi Kisani : Atit, Vartman te Bhvikh	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates
13.	Ms. Ravinder kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Parvas: Rujhan te Chunaotian	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
14.	Ms. Ravinder kaur	NA	Guru Nanak Diyan Sikhyavan	Relevanc e pf Guru Nanak Dev ji's Teaching s in contempo rary times	Relevan ce of Guru Nanak Dev ji's teaching s in contem porary times	National	2022	978-93- 84407-87-2	Khalsa College for Women, Amritsar	S.D College for women, Jalandhar
15.	Ms. Manbir Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Progression of Education Policy in India	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates
16.	Dr. Chanchal	SAGACITY: Researchers'	Jayshankar Prasad ki Hindi	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons Hall

Principal Khalsa College for Women, Amritsar

	Bala	Perspective, 2022	Kahanion mein Nirupit Naari							Bazar, Amritsar
17.	Dr. Chanchal Bala	Komi Kranti de Sirjak Sri Guru Teg Bahadur	Guru Teg bahadur : Vaiktitva aur vani Vishist	NA	NA	National	2022	978-81- 942155-2-4	Khalsa College for Women Amritsar	Shaheed-E- Azam Press, Patiala
18.	Dr. Rakesh Kumar	Rural Diversification in Punjab: Perspectives and Challenges	Role Of IOT In Smart Agriculture	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
19.	Dr. Rakesh Kumar	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Understanding The Vulnerabilities Of Ethereum Smart Contracts	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
20.	Ms. Sumit Chhabra	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Blockchain Technology	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
21.	Dr. Ranjandeep Kaur Khehra	SAGACITY: Researchers' Perspective 2022	Using Technology to Enhance Quality of Education	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons Hall Bazar, Amritsar
22.	Mrs. Kirandeep Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to	Cyber Crimes During Covid- 19: Enhancing E-commerce Security	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Society								
23.	S. Nirmaljit Singh	NA	Link Prediction approach to Combat Cyber- Attacks on Corporate Sector using Complex Networks	Proceedin gs of Internatio nal Conferen ce on Research and Innovatio n in Multidisc iplinary Studies	Internati onal Confere nce on Researc h and Innovati on in Multidis ciplinar y Studies (ICRIM S-2022)	Internatio nal	2022	NA	Khalsa College for Women, Amritsar	NA
24.	S. Nirmaljit Singh	Technological Innovations in Banking and Financial Sector - A Road Map to Society	A Novel Approach To Combat Cyber- Attacks In Banking Sector Using	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
25.	Dr. Mandeep Kaur Gulati	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Cloud Computing In Banking Sector	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
26.	Ms. Pritika Mehra	Technological Innovations in Banking and Financial Sector - A Road Map to	Intrusion Detection Systems Architecture For Internet Banking	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Society	Using Artificial Immune System							
27.	Ms. Geet Bawa	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Ethereum Blockchain Nfts: State-Of-The-Art Trading System	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
28.	Dr. Suman Nayyar	SAGACITY: Researchers' Perspective, 2022	Gender Gap in Financial Literacy	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
29.	Dr. Suman Nayyar	Rural Diversification in Punjab: Prespectives and Challenges	Nine Pillars Of Digital India: Journey To Atam Nirbhar Bharat	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
30.	Dr. Suman Nayyar	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Social Advertising And Use Of Digital Advertising@75	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
31.	Dr. Suman Nayyar	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Cyber Threats And Their Soution In Banking Sector	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
32.	Dr. Suman Nayyar	Digitization and the changing structure of the	Principles and Fundamentals of Management and	NA	NA	National	2022	978-93- 90863-16-7	Khalsa College for Women, Amritsar	National Press Associates,

Principal Khalsa College for Women, Amritsar

		economy	Information Technology							New Delhi
33.	Dr. Ritu Dhawan	SAGACITY: Researchers' Perspective, 2022	A Socio-Cultural Examination of Projection of Women in Advertisements	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
34.	Dr. Ritu Dhawan	Rural Diversification in Punjab: Prespectives and Challenges	Agricultural Diversification: A Review Of Literature	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
35.	Dr. Ritu Dhawan	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Digital Banking In India: Recent Trends, Challenges And Opportunities	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
36.	Dr. Namrata	Rural Diversification in Punjab: Prespectives and Challenges	Applications Of Digital India: A Dream Come True For Atamnirbhar Bharat	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
37.	Dr. Namrata	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Cyber Threats And Their Soution In Banking Sector	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
38.	Dr. Namrata	SAGACITY: Researchers'	Using Technology to	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall

Principal Khalsa College for Women, Amritsar

		Perspective, 2022	Enhance Quality of Education							Bazar, Amritsar
39.	Dr. Namrata	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Social Advertising And Use Of Digital Advertising@75	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
40.	Dr. Kamalpreet Kaur Sandhu	SAGACITY: Researchers' Perspective, 2022	Liberalization and Changing Pattern of Foreign Direct Investment: An Overview	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
41.	Dr. Kamalpreet Kaur Sandhu	Rural Diversification in Punjab: Prespectives and Challenges	Impact Of Skill India On Education Sector: A Perspective	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
42.	Dr. Kamalpreet Kaur Sandhu	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Role Of Information Technology And Structural Changes In The Banking Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
43.	Mrs. Sharina Mahajan	NA	Green Technology in Textile Industry	Proceedin gs of online Internatio nal Conferen	Internati onal Confere nce on Fashion Apparel	Internatio nal	2022	978-81- 953853-8-6	Khalsa College for Women, Amritsar	Excellent Publication House, New Delhi

Principal Khalsa College for Women, Amritsar

44.	Mrs. Sharina	Empowering	Women	ce on Fashion Apparel and Textile NA	and Textile NA	National	2022	978-93-	Khalsa College for	Ideal
	Mahajan	Women: A Journey through Ages	Eminence in Indian Textile Industry					89817-65-2	Women, Amritsar	International E – Publication
45.	Mrs. Sharina Mahajan	SAGACITY: Researchers' Perspective, 2022	Organization of the Apparel Business	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
46.	Mrs. Sharina Mahajan	Rural Diversification in Punjab: Prespectives and Challenges	Digitalisation As An Opportunity For The Fashion Industry	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
47.	Mrs. Sharina Mahajan	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Skill Development In India	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
48.	Dr. Neeru	SAGACITY: Researchers' Perspective, 2022	Challenges of Indian Mutual Fund Industry	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
49.	Dr. Neeru	Rural Diversification in Punjab: Prespectives and	The Role Of Small Scale Industries In Rural	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Challenges	Diversification							
50.	Dr. Neeru	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Innovations In Indian Banking Sector	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
51.	Dr. Pardeep Kaur	Rural Diversification in Punjab: Prespectives and Challenges	pMjwb dI AwriQkqw (pMjwbI swihq dy sMdrB iv`c)	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
52.	Dr. Pardeep Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	AOrq nUM drpyS cuxOqIAW : icMqn Aqy mulWkx	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
53.	Dr. Jaswinder Singh	SAGACITY: Researchers' Perspective, 2022	Punjab Agriculture in Changing Policy Paradigm: Special Reference to WTO	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
54.	Dr. Jaswinder Singh	Rural Diversification in Punjab: Prespectives and Challenges	Issues And Challenges To Punjab Agriculture In Globalised Era	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
55.	Mrs. Samandeep	SAGACITY: Researchers'	An Elaborative Study of	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall

Principal Khalsa College for Women, Amritsar

	Kaur	Perspective, 2022	Wolfgang Iser's Essay - The Reading Process: A Phenomenologic al Approach							Bazar, Amritsar
56.	Mrs. Samandeep Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Reducing Cross Cultural Disparities And Creating Space For The Black	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
57.	Ms. Ambica Khurana	Technological Innovations in Banking and Financial Sector - A Road Map to Society	India goes Green	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates New Delhi
58.	Ms. Ambica Khurana	"Empowering Women: A Journey Through the Ages"	Women Entrepreneurs in Fashion World Shaping the Future of India	NA	NA	Internatio nal	2022	978-93- 89817-65-2	Khalsa College for Women, Amritsar	Ideal International E – Publication
59.	Ms. Ambica Khurana	The Boom of Fashion E- Commerce in India	Principles and Fundamentals of Management and Information Technology	NA	NA	National	2022	978-93- 90863-16-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
60.	Ms. Sumanjit Kaur	Rural Diversification in Punjab: Prespectives and	KyqIbwVI sMkt qy ikswn ^udkuSIAW	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Challenges								
61.	Ms. Sumanjit Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	ipMf : hoNd, siQqI qy qbdIIIAW (pMjwb dy ipMfW dy sMdrB ivc)	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
62.	Ms. Sumanjit kaur	Relevance of the Guru Nanak Dev Ji Teachings in contemporary Times	ਗੁਰੂ ਨਾਨਕ ਬਾਣੀ: ਕੁਦਰਤ ਚਿਤਰਣ	NA	NA	National	2022	978-93- 84407-87-2	Khalsa College for Women, Amritsar	Aastha parkashan
63.	Ms. Sumanjit Kaur	Sagacity: Researchers'Pers pective 2022	ਗੁਰੂ ਨਾਨਕ ਬਾਣੀ: ਲੋਕਧਾਰਾਈ ਅੰਸ਼	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal&Sons Hall Bazar , Amritsar
64.	Ms. Durlove kaur	Technological innovations in banking and financial sector- A road map to society	Role of Women in Fashion Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for women	National press associates
65.	Dr. Amandeep Kaur Sandhu	Rural Diversification in Punjab: Prespectives and Challenges	Azadi Andolan Vich Kooka Lehar da Yogdan	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
66.	Dr. Amandeep Kaur Sandhu	Technological Innovations in Banking and Financial Sector - A Road Map to	. PMJWBI KHWXI QY SUMQQRQW DY PRBWV (gurb^S isMG	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Society	pRIqlVI dy sMdrB iv`c)							
67.	Dr. Amanpreet Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Begum Hazrat Mahal (Indian Freedom Fighter)	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
68.	Ms. Ambica Khurana	SAGACITY: Researchers' Perspective, 2022	Waterless Printing- Direct to Garment Printing	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
69.	Ms. Ambica Khurana	Rural Diversification in Punjab: Prespectives and Challenges	Redefining Handlooms- India's Handloom Sector Discovers Its Own Path	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
70.	Ms. Amrit pal Kaur (Uppal)	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Cybersecurity System In Helping Managing Risk In Banking And Financial Sector	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
71.	Ms. Amritpal Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Skill India: A Campaign For Economic Growth	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
72.	Dr. Chitsimran	Rural Diversification	Msme's In Atamnirbhar	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press

Principal Khalsa College for Women, Amritsar

73.	Dr. Chitsimran	in Punjab: Prespectives and Challenges Rural Diversification in Punjab: Prespectives and Challenges	Bharat: Contribution, Support And Challenges Digital India: Problems And Prospects	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	Associates, New Delhi National Press Associates, New Delhi
74.	Dr. Chitsimran	Rural Diversification in Punjab: Prespectives and Challenges	Role Of Information Technology In Agriculture And Rural Diversification	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
75.	Dr. Chitsimran	Rural Diversification in Punjab: Prespectives and Challenges	Role Of Micro, Small & Medium Enterprises (Msmes) In The Rural Development Of India - A Way Forward	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
76.	Dr. Chitsimran	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Role Of Technology In Financial And Banking Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
77.	Dr. Chitsimran	Technological Innovations in	Sustainable Development In	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press

Principal Khalsa College for Women, Amritsar

		Banking and Financial Sector - A Road Map to Society	Banks							Associates, New Delhi
78.	Ms.Deepika Bagga	SAGACITY: Researchers' Perspective, 2022	Mental Health of Teachers in 21st Century: A Conceptual Framework	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
79.	Ms. Deepika Bagga	Rural Diversification in Punjab: Prespectives and Challenges	Issues And Challenges To Punjab Agriculture In Globalised Era	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
80.	Ms. Deepika Bagga	Rural Diversification in Punjab: Prespectives and Challenges	The Role Of Small Scale Industries In Rural Diversification	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
81.	Ms. Deepika Bagga	Rural Diversification in Punjab: Prespectives and Challenges	Nine Pillars Of Digital India: Journey To Atam Nirbhar Bharat	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
82.	Ms. Dilpreet Kaur	SAGACITY: Researchers' Perspective, 2022	Priority Sector Lending Framework: A Study of Indian Banking Sector	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
83.	Ms.Dilpreet Kaur	Rural Diversification in Punjab:	Msme's In Atamnirbhar Bharat:	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates,

Principal Khalsa College for Women, Amritsar

		Prespectives and Challenges	Contribution, Support And Challenges							New Delhi
84.	Ms. Dilpreet Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Role Of Information Technology In Agriculture And Rural Diversification	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
85.	Ms. Dilpreet Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Role Of Micro, Small & Medium Enterprises (Msmes) In The Rural Development Of India - A Way Forward	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
86.	Ms. Dilpreet Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Digital India: Problems And Prospects	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
87.	Ms. Dilpreet Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Role Of Technology In Financial And Banking Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
88.	Ms. Dilpreet Kaur	Technological Innovations in Banking and	Sustainable Development In Banks	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates,

Principal Khalsa College for Women, Amritsar

		Financial Sector - A Road Map to Society								New Delhi
89.	Ms. Gagandeep Kaur	SAGACITY: Researchers' Perspective, 2022	Academic Library in Modern Era: A Particular Allusion to Khalsa College of Pharmacy's Library	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
90.	Ms. Gurjit Kaur	SAGACITY: Researchers' Perspective, 2022	Cloud Computing	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
91.	Dr. Gurwinder Kaur	Rural Diversification in Punjab: Prespectives and Challenges	ਅਖੌਤੀ ਆਜ਼ਾਦੀ ਦਾ ਗਲਪੀ ਪਰਮਾਣ : ਸੀਰਾ ਦ⊡ਿੰ ਘ ਦਰਦ ਦੀ ਕਸਾਣੀ	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
92.	Dr. Gurwinder Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Bharat Azadi Sangram ch Akali Lehar da Gauravmayi Yogdan ("Chaabian da Morcha" de Vishesh Sandarb vich)	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
93.	Dr. Hardeep Kaur	SAGACITY: Researchers' Perspective,	Cyber Security Attacks in Digital Banking:	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar,

Principal Khalsa College for Women, Amritsar

		2022	Emerging Security Challenges and Threats							Amritsar
94.	Dr. Hardeep Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Empirical Analysis Of Customer's Readiness On Likelihood Of Using Selfservice Technologies	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
95.	Dr. Hardeep Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	A Study On Skill Development Programme For Indian Youth	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
96.	Dr. Hardeep Kaur,	Rural Diversification in Punjab: Prespectives and Challenges	Elucidating The Effect Of Gender On Behavioral Intentions Of Retail Banking Customers: A Study Of Rural Punjab	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
97.	Ms. Harsimran Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Employment In Rural Non-Farm Informal Sector	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

98.	Ms. Isha Sajgotra	Rural Diversification in Punjab: Prespectives and Challenges	A Glance Into Inclusion And Special Education	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
99.	Dr. Jasleen Dua	SAGACITY: Researchers' Perspective, 2022	The Misuse of Anti-Dowry Laws: A Critical Analysis of the Role of Socio- Legal Agencies	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
100.	Dr. Jasleen Dua	Rural Diversification in Punjab: Prespectives and Challenges	Agrarian Crisis And Farmers Suicide In India	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
101.	Ms.Krishma	SAGACITY: Researchers' Perspective, 2022	Organization of the Apparel Business	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
102.	Ms. Khushveen Kaur	SAGACITY: Researchers' Perspective, 2022	Role of Technology in Blowing Whistle- A Case Study of Corporate Houses in India	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
103.	Ms. Khushveen Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to	Examining The Indian National Education Policy 2020 Towards Achieving Its	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

		Society	Objectives							
104.	Dr. Kiran	SAGACITY: Researchers' Perspective, 2022	Guru Amardas ji di Samaj nu Sedh	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
105.	Dr.Kiran	Rural Diversification in Punjab: Prespectives and Challenges	nOjvwn pIVHI : smwijk qy mwnisk cyqnw	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
106.	Dr. Kiran	Technological Innovations in Banking and Financial Sector - A Road Map to Society	FWIESPORW : BDLDY SMIKRN	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
107.	Ms. Krishma	Rural Diversification in Punjab: Prespectives and Challenges	Impact Of GST On Textile Industry	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
108.	Ms. Kuljeet Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	The Sustainable Future Of The Modern Fashion Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
109.	Ms. Manjot Kaur	SAGACITY: Researchers' Perspective, 2022	Cyber Security Attacks in Digital Banking: Emerging	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar

Principal Khalsa College for Women, Amritsar

110.	Ms.Manjot Kaur Sandhu	SAGACITY: Researchers'	Security Challenges and Threats Selection of the Right Fabric	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall
		Perspective, 2022								Bazar, Amritsar
111.	Ms. Manjot Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Elucidating The Effect Of Gender On Behavioral Intentions Of Retail Banking Customers: A Study Of Rural Punjab	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
112.	Ms. Manjot Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	A Study On Skill Development Programme For Indian Youth	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
113.	Ms. Manjot Kaur Sandhu	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Skills To Become A Fashion Designer	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
114.	Ms. Mehak Seth	SAGACITY: Researchers' Perspective, 2022	Graphic Design in Modern Clothing	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar

Principal Khalsa College for Women, Amritsar

115.	Ms. Mehak Seth	Rural Diversification in Punjab: Prespectives and Challenges	Fashion Trends And Its Impact On Indian Society	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
116.	Ms. Mehak Seth	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Peace Education	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
117.	Ms. Mitali Nayyar	Rural Diversification in Punjab: Prespectives and Challenges	Farmers'produce r organisation: An Effective Ecosystem To Boost Farmer's Income For Rural Diversification	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
118.	Ms. Krishma	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Impact Of Digitalization In Textile Industry	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
119.	Ms. Pooja Sharma	Technological Innovations in Banking and Financial Sector - A Road Map to Society	NPE 2020: Prescient, Imaginative And Remodeling Into Action With	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi

Principal Khalsa College for Women, Amritsar

120.	Ms. Pooja Sharma	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Emerging Trends Of Online Crowdfunding Platforms Working In India: A	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
121.	Ms. Rajbir Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	NPE 2020: Prescient, Imaginative And Remodeling Into Action With Tremendous Impact	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
122.	Ms. Rajbir Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Emerging Trends Of Online Crowdfunding Platforms Working In India: A Conceptual Framework	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
123.	Dr. Rajwinder Kaur	SAGACITY: Researchers' Perspective, 2022	Cyber Security Attacks in Digital Banking: Emerging Security Challenges and Threats	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar

Principal Khalsa College for Women, Amritsar

124.	Dr. Rajwinder Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Elucidating The Effect Of Gender On Behavioral Intentions Of Retail Banking Customers: A Study Of Rural Punjab	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
125.	Ms. Ravinder Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Digital Education In India- Scope And Challenges	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
126.	Ms. Ravinder Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	National Education Policy For Naya Bharat	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
127.	Ms. Sandeep Kaur	Rural Diversification in Punjab: Prespectives and Challenges	Farmers' Suicides In India: A Consequence Of Agrarian Crisis	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
128.	Ms. Seema	SAGACITY: Researchers' Perspective, 2022	Mental Health of Teachers in 21st Century: A Conceptual Framework	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
129.	Ms. Seema	Technological Innovations in Banking and	NPE 2020: Prescient, Imaginative And	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates,

Principal Khalsa College for Women, Amritsar

		Financial Sector - A Road Map to Society	Remodeling Into Action With Tremendous Impact							New Delhi
130.	Ms. Seema	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Emerging Trends Of Online Crowdfunding Platforms Working In India: A Conceptual Framework	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
131.	Dr. Sharanjeet Kaur	Rural Diversification in Punjab: Prespectives and Challenges	ਮੌਜੂਦਾ ਮਾਜ ਬਨਾਮ ਪਰਵਾ⊡ੀ ਚੇਤਨਾ (ਦਦਲ ਦਨਿੱਜਰ ਕਾਦਵ ਦੇ ਦਵਸ਼ੇਸ਼ ਸਵਾਲੇ ਨਾਲ)	NA	NA	National	2022	978-93- 90863-03-7	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
132.	Dr. Sharanjeet kaur	Jinder diya kahaniyaan Parat dar parat	Mazdoor varag di hond te honi da sanvadki parvachan: Tusi nahi samjh skde	NA	NA	National	2022	978-81-7143- 697-2	Khalsa College for Women, Amritsar	Ravi Sahit Parkashan, Amritsar
133.	Dr. Sharanjeet Kaur	Technological Innovations in Banking and Financial Sector - A Road Map to Society	AOrq dI siQqI qy sMBwvnwvW (pMjwbI khwxI dy ivSyS pRsMg'c)	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
134.	Dr. Sharanjeet Kaur	SAGACITY: Researchers' Perspective,	gurU nwnk bwxI : pRikrqk hvwilAW dw	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar,

Principal Khalsa College for Women, Amritsar

ĺ		2022	kwivk pRvcn							Amritsar
135.	Dr. Sharanjeet Kaur	Harjit Kaur Virk di Naval Drishti	Harjit Kaur Virk Rachit "unidi akh da supna" Rachnatmik pattern	NA	NA	National	2022	978-93- 93212009	Khalsa College for Women, Amritsar	Saptrishi Publications
136.	Dr. Tanu Sharma	SAGACITY: Researchers' Perspective, 2022	Uranium Distribution in Groundwater and its Carcinogenic and Non- Carcinogenic Effects for South-Western Region of Punjab, India	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
137.	Ms. Tanveen Kaur	SAGACITY: Researchers' Perspective, 2022	Factors Affecting the Choice of Higher Education Institute in Australia and Canada: A Perspective of Indian Students	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar
138.	Mr. Varun Bal	SAGACITY: Researchers' Perspective, 2022	Role of Technology in Blowing Whistle- A Case Study of Corporate	NA	NA	National	2022	978-88490- 42-9	Khalsa College for Women, Amritsar	Kasturi Lal & Sons, Hall Bazar, Amritsar

Principal Khalsa College for Women, Amritsar

			Houses in India							
139.	Mr. Varun Bal	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Examining The Indian National Education Policy 2020 Towards Achieving Its Objectives	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
140.	Mrs. Krishma	Empowering Women: A Journey through Ages	Women Eminence in Indian Textile Industry	NA	NA	National	2022	978-93- 89817-65-2	Khalsa College for Women, Amritsar	Ideal International E – Publication
141.		NA	Green Technology in Textile Industry	Proceedin gs of online Internatio nal Conferen ce on Fashion Apparel and Textile	Internati onal Confere nce on Fashion Apparel and Textile	Internatio nal	2022	978-81- 953853-8-6	Khalsa College for Women, Amritsar	Excellent Publication House, New Delhi
142.	Ms. Pallavi Mahajan	Technological Innovations in Banking and Financial Sector - A Road Map to Society	Innovating New Fashion Technologies	NA	NA	National	2022	978-93- 90863-84-6	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
143.	Dr. Sharanjeet Kaur	Sooraj di Chaave	NA	NA	NA	National	2022	978-93- 91471-48-4	Khalsa College for Women, Amritsar	Preet Publication, Nabha

Principal Khalsa College for Women, Amritsar

					20	20-21				
1.	Dr. Surinder Kaur	Peace Education: Concept, Objective and Scope	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
2.	Dr. Surinder Kaur	Differences between Peace and Value Education	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
3.	Dr. Surinder Kaur	Peace Education in the context of Socio-cultural Religious Diversities in India	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
4.	Dr. Surinder Kaur	Role of Teacher in Imparting Peace Education	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
5.	Dr. Surinder Kaur	National and International Context of Peace Education	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
6.	Dr. Surinder Kaur	Status and Programme of Peace Education in School Curriculum	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar

Principal Khalsa College for Women, Amritsar

7.	Dr. Surinder Kaur	Strategies used for Inculcation of the values in the Pupil's Life	Peace and Value Education	NA	NA	National	2020	978-93- 88490-11-5	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
8.	Dr. Manpreet Kaur	VISITAS: KCW Researchers' Viewpoint, 2020	A Study of Projection of Women in Advertisements: A Sociolcultural Examination of Gender Role	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
9.	Ms.Ravinde r Kaur	Jatinder Brar de natak: Chintni Paripekh	Pritinidh Sanchar da Sanwaad: Payedan	NA	NA	Internati onal	2020	978-93-5205- 2013-4	Khalsa College for Women, Amritsar	Lokgeet Parkashan, Chandigarh
10.	Dr. Chanchal Bala	VISITAS: KCW Researchers' Viewpoint, 2020	Yug Purush Guru Nanak Dev Ji	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
11.	S. Manjit Singh	VISITAS: KCW Researchers' Viewpoint, 2020	Distributed Database Problem Areas, Approaches & Solutions	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
12.	Dr. Rakesh Kumar	VISITAS: KCW Researchers' Viewpoint, 2020	Internet Of Things: A Security Perspective	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
13.	Ms. Sumit Chhabra	VISITAS: KCW Researchers' Viewpoint, 2020	Comparative Study of Itv4 and IPV6 Addressing Scheme	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala

Principal Khalsa College for Women, Amritsar

14.	Dr. Ranjandeep Kaur Khehra	VISITAS: KCW Researchers' Viewpoint, 2020	Geographic Information System	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
15.	Dr. Ranjandeep Kaur Khehra	NA	A Study of various Bio- Inspired algorithms in the Cloud Computing	Proceedi ngs of Internati onal conferen ce on data sciences and machine learning	Internat ional confere nce on data science s and machin e learnin g, ACET, Amritsa r	National	2020	978-81- 945285-0-0	Khalsa College for Women, Amritsar	Amritsar College of Engineering and Technology, Amritsar
16.	Ms. Kirandeep Kaur	VISITAS: KCW Researchers' Viewpoint, 2020	3D Search Engines	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
17.		NA	Link Prediction in Complex Networks using Software Metrics	Proceedi ngs of Internati onalConf erence o n Futuristi c Strategie s of ICT for	Internat ionalCo nferenc e on Futurist ic Strategi es of ICT for Digital Sustain	Internati onal	2020	NA	Khalsa College for Women, Amritsar	NA

Principal Khalsa College for Women, Amritsar

				Digital Sustaina ble Develop ment	able Develo pment					
18.	Mr.Nirmalji t Singh	NA	A Novel Approach to Contact Tracing of Covid-19 STML Patients using Hybrid CNLP- AA Method of Complex Networks	Proceedi ngs of National Multidis ciplinary E- Conferen ce 2020	Nationa l Multidi sciplina ry E- Confere nce 2020	National	2020	NA	NA	NA
19.	Mr. Nirmaljit Singh	VISITAS: KCW Researchers' Viewpoint, 2020	Applications of Software Metrics in Complex Networks	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
20.	Dr. Mandeep Kaur Gulati	VISITAS: KCW Researchers' Viewpoint, 2020	Survey of Load Balanced Routing Protocols in MANET S	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
21.	Ms. Pritika Mehra	VISITAS: KCW Researchers' Viewpoint, 2020	Energy Efficiency in Cloud Computing	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
22.	Ms. Geet Bawa	VISITAS: KCW Researchers' Viewpoint, 2020	CAPTCHA: Vulnerabilities and Future	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala

Principal Khalsa College for Women, Amritsar

			Aspects							
23.	Dr. Suman Nayyar	VISITAS: KCW Researchers' Viewpoint, 2020	Corporate Social Responsibility and its Impact on Society	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
24.	Dr. Ritu Dhawan	VISITAS: KCW Researchers' Viewpoint, 2020	Ethics In Advertisements: A Review Of Literature	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
25.	Dr. Namarta	VISITAS: KCW Researchers' Viewpoint, 2020	The Best of Both the Worlds: Striking a Balance Between Traditional Methods of Teaching & The Latest Tools	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
26.	Dr. Kamalpreet Kaur Sandhu	VISITAS: KCW Researchers' Viewpoint, 2020	Innovative Teaching Methodogies in Higher Education	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
27.	Ms. Sharina Mahajan	VISITAS: KCW Researchers' Viewpoint, 2020	Sustainable Fashion	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
28.	Dr. Neeru Kapoor	VISITAS: KCW Researchers' Viewpoint, 2020	Penetration of Nutrition Labeling on Packaged Foods	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala

Principal Khalsa College for Women, Amritsar

29.	Dr.Pardeep Kaur	Soorja de Hani: Alochnatamak Adhyan	Soorja de Hani: Pattar Sansar	NA	NA	National	2020	978-93- 884900-2	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
30.	Ms. Samandeep Kaur Gill	VISITAS: KCW Researchers' Viewpoint, 2020	Diasporic Elements in Mohsin Hamid's Novel The Reculctant Fundamentalist	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
31.	Dr. Ajaypal Kaur	Gender and Politics	NA	NA	NA	National	2020	978-81-316- 1087-9	NA	Rawat Publications, Jaipur
32.	Dr. Jasleen Dua	VISITAS: KCW Researchers' Viewpoint, 2020	The Problem of Drug Addiction in India: Its Consequences And Elective Measures	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
33.	Dr. Nitika Bhandari	VISITAS: KCW Researchers' Viewpoint, 2020	Advertisement on Facebook	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
34.	Dr. Kiranjot Kaur	VISITAS: KCW Researchers' Viewpoint, 2020	Penetration of Nutrition Labeling on Packaged Foods	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
35.	Ms. Ambica Khurana	VISITAS: KCW Researchers' Viewpoint, 2020	Home Textiles	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
36.	Ambica Khurana	Mode Ethique	Sustainable Vegan Leather	NA	NA	National	2020	978-81- 939443-6-3	Khalsa College for Women, Amritsar	PCM S.D. college for Women, Jalandhar

Principal Khalsa College for Women, Amritsar

37.	Ms. Prabhjot Kaur	VISITAS: KCW Researchers' Viewpoint, 2020	Plus Size Clothing	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
38.		VISITAS: KCW Researchers' Viewpoint, 2020	Clothing Fasteners	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
39.	Ms. Mehak Seth	VISITAS: KCW Researchers' Viewpoint, 2020	Importance of Knitting and Its Stitches in Texture World	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
40.	Ms. Amrit Pal Kaur Uppal	VISITAS: KCW Researchers' Viewpoint, 2020	Fashion Trends	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
41.	Ms. Krishma	VISITAS: KCW Researchers' Viewpoint, 2020	Impact of Fashion on Students	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
42.	Ms. Amanpreet Kaur	VISITAS: KCW Researchers' Viewpoint, 2020	Style	NA	NA	National	2020	978-93- 81278-77-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
43.	Dr. Kumari Sita	Crop Physiology Case Histories for Major Crops	Crop Physiology Case Histories for Major Crops_Lentil.	NA	NA	Internati onal	2020	978-0-12- 819194-1		Elsevier, Amsterdam, The Netherlands
44.	Dr. Sharanjeet Kaur	Soorja de Hani: Alochnatamak Adhyan	Soorja de Hani: Rachnatmak Pattern	NA	NA	National	2020	978-93- 884900-2	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar
45.	Dr. Sharanjeet Kaur	Jasvir Rana di Naval vidhi te Drishti	Etho Reggistan disda hai: Badalde Pratimana da Birtantak Parwachan	NA	NA	National	2020	978-81- 948089-6-1	Khalsa College for Women, Amritsar	Azeez Book House, Bathinda

Principal Khalsa College for Women, Amritsar

46.		Guru Nanak Bani Bahupakhi Adhayan Jatinder Brar de	Guru Nanak Bani Bhashai Jugtaa Kadesan:	NA	NA	National Internati	2020	978-81-7143- 667-5 978-93-5205-	Khalsa College for Women, Amritsar Khalsa College for	Ravi Sahit Parkashan, Amritsar International
т/.	Amandeep Kaur Sandhu	natak: Chintni Paripekh	Sabhyacharik Sandarb		1474	onal	2020	213-4	Women, Amritsar	Publishers, California
48.	Dr. Amandeep Kaur Sandhu	Jatinder Brar de natak: Chintni Paripekh	Faasle : ik Adyan	NA	NA	Internati onal	2020	978-93-5205- 213-4	Khalsa College for Women, Amritsar	International Publishers, California
49.	Ms. Ambica Khurana	NA	Greener Way to Colour Textiles	Fashion and Textile Industry Opportin ities and Challeng es for Educatio n	Nationa l Confere nce on Fashion Apparel and Textile NCFA T'20	National	2020	978-81- 949292-5-3	Khalsa College for Women, Amritsar	AMITY university, UP
50.	Ms. Manjot Kaur Sandhu	Drug Abuse: Menace to Society	Alcohol Addiction and its Effect on Body	NA	NA	National	2020	978-81-7914- 491-6	Khalsa College for Women, Amritsar	Tarlochan Publishers
51.	Ms. Mehak Seth	NA	Innovation in Fashion and Textiles	Fashion and Textile Industry 4.0 - Opportin ities and	Nationa l Confere nce on Fashion Apparel and	National	2020	978-81- 949292-5-3	Khalsa College for Women, Amritsar	AMITY university, UP

Principal Khalsa College for Women, Amritsar

				Challeng es for Educatio n 4.0	Textile NCFA T'20								
	2019-20												
1.	Dr. Surinder Kaur	Exclusion	Inclusive Education	NA	NA	National	2019	978-93- 88473-06-4	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar			
2.	Dr. Surinder Kaur	Pedagogical Strategies for Addressing Diversity in the Classroom	Inclusive Education	NA	NA	National	2019	978-93- 88473-06-4	Khalsa College for Women, Amritsar	Kasturi Lal and Sons, Amritsar			
3.	Dr Manpreet Kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Women Empowerment: A path out of poverty	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala			
4.	Ms. Ravinder Kaur	Dr. K.L. Goel de Safarname	Meri England Feri: Bahupakhi adhyan	NA	NA	National	2019	978-93- 88954-32-7	Khalsa College for Women, Amritsar	Navrang Publications, Samana			
5.	Ms. Ravinder Kaur	Samkal da natakkar: Dr. Kuldeep Singh Deep	Khudkushi de arthik, Samajik te Manovigyanik pasar	NA	NA	National	2019	978-93- 83296-39-2	Khalsa College for Women, Amritsar	Lokgeet Parkashan Chandigarh			
6.	Ms. Ravinder Kaur	Artinder Sandhu ta Kav- Chinten	Kade ta mil Zindagi : Maheen Ehsaas da Sanchar	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala			
7.	Dr. Chanchal Bala	VISTAS: KCW Researchers' Viewpoint, 2018	Khanjan Nayan mein Surdas ke yug ka parmanik chitran	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala			

Principal Khalsa College for Women, Amritsar

8.	Ms. Manbir Kaur	Drug Abuse: Menace to	Role of Education in Prevention of	NA	NA	National	2019	978-81-7914- 491-6	Khalsa College for Women, Amritsar	Tarlochan Publishers,
9.	Mr. Manjit Singh	Society VISTAS: KCW Researchers' Viewpoint, 2018	Drug Abuse A Comprehensive study on cloud computing	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Chandigarh Gracious Books, Patiala
10.	Dr. Rakesh Kumar	VISTAS: KCW Researchers' Viewpoint, 2018	Thresholds for Software Quality Management	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
11.	Ms. Sumit Chhabra	VISTAS: KCW Researchers' Viewpoint, 2018	Web Metrics	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
12.	Dr. Ranjandeep Kaur Khera	VISTAS: KCW Researchers' Viewpoint, 2018	Artificial Intelligence, Its Tools and Applications	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
13.	Ms. Kirandeep Kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Crypto Currency	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
14.	Mr. Nirmaljit Singh	VISTAS: KCW Researchers' Viewpoint, 2018	IT- outsourcing- security concern	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
15.	Dr. Mandeep Kaur Gulati	VISTAS: KCW Researchers' Viewpoint, 2018	Quality of service routing in mobile Ad hoc networks	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
16.	Ms. Pritika	VISTAS: KCW	Comparative	NA	NA	National	2019	978-93-	Khalsa College for	Gracious

Principal Khalsa College for Women, Amritsar

	Mehra	Researchers' Viewpoint, 2018	Analysis of MySQL and MariaDB.					87276-80-2	Women, Amritsar	Books, Patiala
17.	Ms. Geet Bawa	VISTAS: KCW Researchers' Viewpoint, 2018	A Journey of Deep and dark Web	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
18.	Dr. Suman Nayyar	VISTAS: KCW Researchers' Viewpoint, 2018	Impact and Implications of GST on Indian Economy.	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
19.	Dr. Ritu Dhawan	VISTAS: KCW Researchers' Viewpoint, 2018	Women in Advertisement-A Literature Review	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
20.	Dr. Namrata Khairah	VISTAS: KCW Researchers' Viewpoint, 2018	The role of media vis a vis The Menance of Drugs.	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
21.	Dr. Kamalpreet kaur Sandhu	VISTAS: KCW Researchers' Viewpoint, 2018	Nexus between BSC sensex growth:An emperical Investigation.	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
22.	Dr. Neeru Kapoor	VISTAS: KCW Researchers' Viewpoint, 2018	Impact of Digitalization service sector and its challenges.	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
23.	Dr. Jaswinder Singh	VISTAS: KCW Researchers' Viewpoint, 2018	Globalisation and indian pharmaceutical industry:	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala

Principal Khalsa College for Women, Amritsar

			challenges and prospects : A SWOT Analysis							
24.	Dr.Rajwind er Kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Need to blow Whistle- A policy in India	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
25.	Dr. Jasleen Dua	VISTAS: KCW Researchers' Viewpoint, 2018	Safety of Girl Students in Campus and in Society: Challenges and Remedies	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
26.	Dr. Hardeep Kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Green banking: A Step towards Environmental Conservation and Sustainability	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
27.	Dr. Jaspreet kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Service marketing - A case study	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
28.	Dr. Saurabh Grover	VISTAS: KCW Researchers' Viewpoint, 2018	The role of media vis a vis The Menance of Drugs.	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
29.	Mr.Varun Bal	VISTAS: KCW Researchers' Viewpoint, 2018	Need to blow Whistle- A policy in India	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
30.	Ms.Ambica khurana	VISTAS: KCW Researchers'	Sustainable Textile	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books,

Principal Khalsa College for Women, Amritsar

		Viewpoint, 2018	Innovation							Patiala
31.	Ms.Harsimr an Kaur	VISTAS: KCW Researchers' Viewpoint, 2018	Desi Chic-Dhoti	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
32.	Ms.Mehak Seth	VISTAS: KCW Researchers' Viewpoint, 2018	Importance of CAD software in Fashion world	NA	NA	National	2019	978-93- 87276-80-2	Khalsa College for Women, Amritsar	Gracious Books, Patiala
33.	Dr.Sharanje et Kaur	Samkal da natakkar: Dr. Kuldeep Singh Deep	Kuldeep Singh Deep de nataka da manovishleshnata mak Adhyan	NA	NA	National	2019	978-93- 83296-39-2	Khalsa College for Women, Amritsar	Lokgeet Parkashan Chandigarh
						2018-1	9			
1.	Dr. Manpreet kaur	The Making of Digital India	Digitalization of Indian economy: Antecedents and consequences	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
2.	Dr. Suman Nayyar	The Making of Digital India	F commerce A next step to E- commerce and M- commerce	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
3.	Dr. Ritu Dhawan	The Making of Digital India	Role of IT in digital india programme: An Overview	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
4.	Dr. Namrata Khairah	The Making of Digital India	Commitment of College teachers towards their organization in digital world	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs

Principal Khalsa College for Women, Amritsar

5.	Ms. Kamalpreet Kaur Sandhu	The Making of Digital India	E-marketing and its impact on retail business	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
6.	Ms. Sharina Mahajan	The Making of Digital India	Role of IOT and digital technology in textile industry	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
7.	Dr. Neeru Kapoor	The Making of Digital India	Commitment of College Teachers towards their organization in digital world	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
8.	Dr . Rajwinder Kaur	The Making of Digital India	Electronic Whistle blowing and Indian corporate sector	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
9.	Dr. Hardeep Kaur	The Making of Digital India	Green banking: A step towards environmental conservation and sustainability	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
10.	Ms. Ambica Khurana	NA	Waste to Wear	Innovatio n and Entrepre neurship- A Path for Growth of Fashion and Textile	Nationa l Confere nce on Fashion Appreal and Textile (NCFA T' 18)	National	2018	978-93- 86238-51-1	Khalsa College for Women, Amritsar	Amity University, Noida, Uttar Pardesh

Principal Khalsa College for Women, Amritsar

				Industry						
11.	Ms. Ambica Khurana	The Making of Digital India	Role of IOT and digital technology in textile industry	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
12.	Mr. Varun Bal	The Making of Digital India	Electronic Whistle blowing and Indian corporate sector	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
13.	Dr. Nitika Bhandari	The Making of Digital India	Impact of digitalization on Indian economy	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
14.	Dr. Jaspreet Kaur	The Making of Digital India	GST and cascading effects	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
15.	Dr. Sourabh Grover	The Making of Digital India	Development of women entrepreneurship in digital era	NA	NA	National	2018	978-93- 87711-32-7	Khalsa College for Women, Amritsar	K.G.Graphi cs
16.	Ms. Mehak Seth	NA	Development in Cad for fashion and textile Design	Innovatio n and Entrepre neurship- A Path for Growth of Fashion and Textile Industry	Nationa 1 Confere nce on Fashion Appreal and Textile (NCFA T' 18)	National	2018	978-93- 86238-51-1	Khalsa College for Women, Amritsar	Amity University, Noida, Uttar Pardesh

Principal Khalsa College for Women, Amritsar

17.	Dr. Hardeep Kaur	Transformatio nal Managerial Skills	Future Renewable Energy: Alternatives for Automobiles operated by Non- Renewable Energy Sources	NA	NA	National	2018	978-93- 85835-60-5	Khalsa College for Women, Amritsar	National Press Associates, New Delhi
2017-18										
1	Dr. Pardeep	Maut Ali babe	Ajit Kaur di	NA	NA	National	2017	978-81-7143-	Khalsa College for	Ravi Sahit
	Kaur	Di Partan Sang	Katha Drishti					657-6	Women, Amritsar	Parkashan,
		Sanwad								Amritsar

Principal Khalsa College for Women, Amritsar